
Wooden 
Love Seat
416/5989

Issue 22/10/20



416/5989

EN 581



(M6 x 70mm) Screw  x 10Pcs

(Ø6 x 15mm) Barrel Nuts  x 4Pcs

(M6x35mm) Bolt  x 4Pcs

(M6 x 50mm) Screw  x 15Pcs

(M6 x 30mm) Screw  x 8Pcs

Allen key  x 2

E

F



1    Left leg frame  x 1

4    Right leg frame  x 1

7    Leg stretchers  x 1

2    Right leg frame  x 1

5    Backrest  x 2

8    Leg stretchers  x 1

10    Parasol hole cap  x 1

3    Left leg frame  x 1

6    Seat  x 2

9    Table top  x 1



(M6 x 70mm) Screw  x 2Pcs

(M6 x 70mm) Screw  x 10Pcs

(Ø6 x 15mm) Barrel Nuts  x 4Pcs

(M6x35mm) Bolt  x 4Pcs

(M6 x 50mm) Screw  x 15Pcs

(M6 x 30mm) Screw  x 8Pcs

Allen key  x 2

E

F

C

2

X 2

(Ø6 x 15mm) Barrel Nuts  x 2Pcs

(M6x35mm) Bolt  x 2Pcs

(M6 x 30mm) Screw  x 4Pcs

E

D

B

A

(M6 x 50mm) Screw  x 4Pcs
3

1

A

A

B

D

D

E

D
D

5

6

C

C

3
(Ø6 x 15mm) Barrel Nuts  x 2Pcs

(M6x35mm) Bolt  x 2Pcs

(M6 x 30mm) Screw  x 4Pcs

E

D

B

A

(M6 x 50mm) Screw  x 4Pcs

4

2

A

A

B
D

D

D

E

D

3

1

2 4



4
D

(M6 x 50mm) Screw  x 6Pcs

5
D

(M6 x 50mm) Screw  x 1Pcs

C

(M6 x 70mm) Screw  x 6Pcs

7D
D

D

D

D

D

8

C

C

D

D

C

10

10

9



6

7



8


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

